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1. Do not open the booklet unless you are 

asked to do so. 

 1. iz’u&iqfLrdk dks rc rd u [kksysa tc rd vkils dgk 

u tk,A 

2. The booklet contains 60 questions. 

Examinee is required to answer any 50 

questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 

questions will be considered for evaluation. 

All questions carry equal marks. 

 2. iz’u&iqfLrdk esa 60 iz’u gSaA ijh{kkFkhZ dks fdUgha  

50 iz’uksa dks dsoy nh xbZ OMR vkUlj&’khV ij gh 

gy djuk gS  iz’u&iqfLrdk ij ughaA ;fn Nk= }kjk 

50 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 

gy fd;s gq, 50 mŸkjksa dks gh ewY;kadu gsrq lfEefyr 

fd;k tk,xkA lHkh iz’uksa ds vad leku gSaA 

3. Examine the Booklet and the OMR Answer-

Sheet very carefully before you proceed. 

Faulty question booklet due to missing or 

duplicate pages/questions or having any 

other discrepancy should be got 

immediately replaced. 

 3. iz’uksa ds mŸkj vafdr djus ls iwoZ iz’u&iqfLrdk rFkk 

OMR vkUlj&’khV dks lko/kkuhiwoZd ns[k ysaA nks”kiw.kZ 

iz’u&iqfLrdk ftlesa dqN Hkkx Nius ls NwV x, gksa ;k 

iz’u ,d ls vf/kd ckj Ni x, gksa ;k mlesa fdlh 

vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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1. gfjr ØkfUr lEcfU/kr gS % 
 

1. Green Revolution is related to : 

(A) ljlksa ls  (A) Mustard  

(B) eDdk ls  (B)  Maize 

(C) xssgw¡ ls  (C)  Wheat 

(D) /kku ls  (D)  Paddy  

2. Hkkjr esa gfjr ØkfUr ds tud gSa % 
 

2. Father of Green Revolution in India is : 

(A) ,u- bZ- cksjykWx   (A) N. E. Borlaug 

(B) ,e- ,l- LokehukFku  (B)  M. S. Swaminathan  

(C) ds- lh- esgrk   (C)  K. C. Mehta  

(D) mi;qZDr esa ls dksbZ ugha    (D)  None of the above  

3. xsgw¡ dh izksVhu gS % 
 

3. Wheat protein is : 

(A) thu  (A) Gene 

(B) XywfVu  (B)  Gluten  

(C) (A) vkSj (B) nksuksa   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha    (D)  None of the above  

4. ekstsd jksx dk dkj.k gS % 
 

4. Mosaic disease is caused by : 

(A) thok.kq  (A) Bacteria  

(B) dod  (B)  Fungus  

(C) fo‛kk.kq   (C)  Virus 

(D) ‘kSoky  (D)  Algae 
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5. gjh [kkn Qly gS % 
 

5. Green manure crop is : 

(A) xsgw¡  (A) Wheat  

(B) /kku  (B)  Paddy  

(C) ljlksa   (C)  Mustard  

(D) <Sapk  (D)  Dhaincha  

6. jch ekSle dh Qly gS % 
 

6. Rabi season crop is : 

(A) vjgj  (A) Arhar 

(B) dikl  (B)  Cotton  

(C) puk  (C)  Gram 

(D) /kku  (D)  Paddy  

7. fuEufyf[kr esa ls dkSu&lh frygu Qly gS \ 
 

7. Which of the following crops is oilseed ? 

(A) ljlksa   (A) Mustard  

(B) lwjteq[kh  (B)  Sunflower 

(C) fry  (C)  Til 

(D) mi;qZDr lHkh  (D)  All of the above  

8. ;wfj;k eas ukbVªkstu dh ek=k 
---------------------- 

gksrh gSA 
 

8. Urea contains ................ nitrogen. 

(A) 18 izfr’kr  (A) 18% 

(B) 36 izfr’kr  (B)  36% 

(C) 46 izfr’kr  (C)  46% 

(D) 26 izfr’kr  (D)  26% 
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9. lokZf/kd pkoy mRiknu djus okyk jkT;  

gS % 

 
9. Highest rice producing state is : 

(A) if’peh caxky  (A) West Bengal 

(B) mŸkj izns’k  (B)  U. P. 

(C) gfj;k.kk  (C)  Haryana  

(D) e/; izns’k  (D)  M. P. 

10. nks eq[; Qlyksa ds chp eas mxkbZ xbZ de 

vof/k okyh Qly tkuh tkrh gS % 

 
10. Short duration crop grown between two 

main crops is known as : 

(A) dEisfu;u Qly   (A) Companion crop  

(B) vUr%Qly   (B)  Intercrop  

(C) dSp Qly   (C)  Catch crop  

(D) fjys Qly   (D)  Relay crop  

11. flapkbZ ty ds lkFk ‘kkduk’kh ds iz;ksx dks 

dgrs gSa % 

 
11. Application of herbicide with irrigation 

water is called : 

(A) QVhZxs’ku  (A) Fertigation  

(B) gchZxs’ku  (B)  Herbigation  

(C) bjhxs’ku  (C)  Irrigation  

(D) bUlsDVhxs’ku  (D)  Insectigation  
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12. Qsysfjl ekbuj lEcfU/kr gS % 
 

12. Phalaris minor is related to : 

(A) /kku ls  (A) Rice 

(B) puk ls  (B)  Gram 

(C) xsgw¡ ls  (C)  Wheat 

(D) Tokj ls  (D)  Jowar 

13. dkcZfud moZjd gS % 
 

13. Organic fertilizer is : 

(A) ;wfj;k  (A) Urea  

(B) Mh- ,- ih-  (B)  D. A. P. 

(C) ,e- vks- ih-   (C)  M. O. P. 

(D) mi;qZDr lHkh   (D)  All of the above  

14. nyguh Qly gS % 
 

14. Legume crop is : 

(A) mnZ  (A) Black gram  

(B) ew¡x  (B)  Green gram  

(C) vjgj  (C)  Red gram  

(D) mi;qZDr lHkh   (D)  All of the above  
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15. fnol fu‛izHkkoh Qly gS % 
 

15. Day neutral crop is : 

(A) /kku  (A) Paddy  

(B) xsgw¡  (B)  Wheat  

(C) puk  (C)  Gram  

(D) eDdk  (D)  Maize 

16. xkscj dh [kkn eas ik;k tkrk gS % 
 

16. F. Y. M. contains : 

(A) 0-5 izfr’kr ukbVªkstu  (A) 0.5% 
2

N   

(B) 0-2 izfr’kr QkWLQksjl  (B)  0.2% 
2 5

P O   

(C) 0-5 izfr’kr iksVk’k  (C)  0.5% 
2

K O   

(D) mi;qZDr lHkh   (D)  All of the above  

17. jk‛Vªh; pkoy ‘kks/k laLFkku fLFkr gS % 
 

17. National Rice Research Institute is 

situated at : 

(A) gSnjkckn esa  (A) Hyderabad  

(B) djuky esa  (B)  Karnal  

(C) dVd esa  (C)  Cuttak   

(D) dks;EcVwj esa  (D)  Coimbatore  
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18. vokafNr ikS/ks dk fu‛dklu dgykrk  

gS % 

 
18. Removal of an unwanted plant is  

called : 

(A) cksfYVax  (A) Bolting  

(B) jksfxax  (B)  Roguing  

(C) isfxax  (C)  Pegging  

(D) mi;qZDr lHkh  (D)  All of the above  

19. e`nk ds v/;;u dks dgrs gSa % 
 

19. Study of soil is called : 

(A) ,MsQksykWth   (A) Edaphology  

(B) isMksykWth   (B)  Pedology  

(C) isVªksykWth   (C)  Petrology  

(D) mi;qZDr esa ls dksbZ ugha    (D)  None of the above  

20. /kku ds [ksr ls dkSu&lh xSl fudyrh gS \ 
 

20. Which gas is released from paddy  

fields ? 

(A) 
4

C H    (A) 
4

C H   

(B)  
2

C O    (B)  
2

C O   

(C)  
4

N H    (C)  
4

N H   

(D)  
2

H S    (D)  
2

H S   
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21. e`nk ds eq[; vo;o gSa % 
 

21. Major components of soil are : 

(A) 2  (A) 2 

(B)  3  (B)  3 

(C)  4  (C)  4 

(D)  5  (D)  5 

22. e`nk dh HkkSfrd voLFkk gS % 
 

22. Physical condition of soil is : 

(A) e`nk moZjrk   (A) Soil Fertility  

(B) e`nk mRikndrk   (B)  Soil Productivity  

(C) e`nk fVYFk  (C)  Soil Tilth  

(D) e`nk lajpuk  (D)  Soil Structure  

23. e`nk d.kksa dk O;oLFkkiu dgykrk gS % 
 

23. Arrangement of soil particles is called : 

(A) e`nk lajpuk   (A) Soil structure  

(B) e`nk xBu  (B)  Soil texture  

(C) e`nk ifjPNsfndk   (C)  Soil profile  

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above  

24. e`nk esa dkcZfud inkFkZ ik;k tkrk gS % 
 

24. Organic matter found in soil is : 

(A) 25 izfr’kr  (A) 25% 

(B) 5 izfr’kr  (B)  5% 

(C) 35 izfr’kr  (C)  35% 

(D) 45 izfr’kr  (D)  45% 
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25. ikS/kk ukbVªkstu dks fdl :i eas ysrk gS \ 
 

25. Plant takes nitrogen in which form ? 

(A) DyksjkbM  (A) Chloride  

(B) ukbVsªV  (B)  Nitrate  

(C) QkWLQsV  (C)  Phosphate  

(D) mi;qZDr lHkh  (D)  All of the above  

26. yo.kh; e`nk dk ih- ,p- gS % 
 

26. pH of saline soil is : 

(A) 6.0  (A) 6.0 

(B)  7.0  (B)  7.0 

(C)  8.0  (C)  8.0 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above  

27. Mh- ,- ih- eas ukbVªkstu 
-------------------------- 

gksrh gSA 
 

27. D. A. P. contains ............. nitrogen. 

(A) 46 izfr’kr  (A) 46% 

(B) 26 izfr’kr  (B)  26% 

(C) 28 izfr’kr  (C)  28% 

(D) 18 izfr’kr  (D)  18% 

28. jkbtksfc;e ,d 
---------------------------- 

gSA 
 

28. Rhizobium is a : 

(A) thok.kq   (A) Bacteria  

(B) fo‛kk.kq   (B)  Virus 

(C) dod  (C)  Fungi 

(D) ‘kSoky  (D)  Algae 
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29. Dys dk vkdkj gS % 
 

29. Size of clay is : 

(A) 0-02 feeh- ls de  (A) < 0.02 mm 

(B) 0-02 feeh- ls vf/kd  (B)  > 0.02 mm 

(C) 0-002 feeh- ls vf/kd  (C)  > 0.002 mm 

(D) 0-002 feeh- ls de  (D)  < 0.002 mm 

30. dEiksLV dk dkSu&lk ,d Hkkx ugha gS \ 
 

30. Which is not a part of compost ? 

(A) xkscj  (A) Dung 

(B) is’kkc  (B)  Urine  

(C) Qly vo’ks‛k  (C)  Crop residue  

(D) ;wfj;k  (D)  Urea 

31. lfCt;ksa ds v/;;u dks dgrs gSa % 
 

31. Study of vegetables is called : 

(A) ikseksykWth  (A) Pomology  

(B) vksysjhdYpj  (B)  Olericulture 

(C) ¶yksjhdYpj  (C)  Floriculture 

(D) ÝwV VsDuksykWth  (D)  Fruit Technology 

32. foVkfeu ‘C’ dk vPNk lzksr gS % 
 

32. Rich source of Vitamin C is : 

(A) vke  (A) Mango  

(B) dsyk  (B)  Banana 

(C) vk¡oyk  (C)  Aonla  

(D) iihrk  (D)  Papaya 
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33. Qy ,oa lfCt;k¡ vPNk lzksr gS % 
 

33. Fruit and vegetable are good source of : 

(A) dkcksZgkbMsªV dk  (A) Carbohydrate  

(B) olk dk  (B)  Fat 

(C) foVkfeu ,oa feujy dk  (C)  Vitamin and Mineral  

(D) izksVhu dk  (D)  Protein  

34. vke ds Qy dk izdkj gS % 
 

34. Fruit type of mango is : 

(A) uV  (A) Nut 

(B) csjh  (B)  Berry 

(C) gsLihjhfM;e  (C)  Hesperidium 

(D) Mªwi 
 (D)  Drupe 

35. dsyk dk [kkus okyk Hkkx gS % 
 

35. Edible part of banana is : 

(A) ,fjy   (A) Aril  

(B) isjhdkiZ  (B)  Pericarp  

(C) ehtksdkiZ ,oa ,.MksdkiZ  (C)  Mesocarp and Endocarp  

(D) FkSysel  (D)  Thalamus  

36. ve:n dk dqy gS % 
 

36. Family of Guava is : 

(A) ,ukdkfMZ,lh  (A) Anacardiaceae 

(B) fejVslh  (B)  Myrtaceae 

(C) ,jhdslh  (C)  Arecaceae 

(D) dsjhdslh  (D)  Caricaceae 



 

Ag–5010 ( 13 )  Set-C 

36. xk; ds nw/k dk ih- ,p- eku gksrk gS % 
 

36. The pH value of cow milk is : 

(A) 5.6  (A) 5.6 

(B)  6.6  (B)  6.6 

(C)  7.6  (C)  7.6 

(D)  8.6  (D)  8.6 

37. ßfoVkfeuÞ ‘kCn lcls igys fdlus fn;k \ 
 

37. The word “Vitamin” was coined by : 

(A) ekfVZu  (A) Martin  

(B) MkfoZu  (B)  Darwin  

(C) Qad  (C)  Funk 

(D) dqfj;u  (D)  Kurien  

38. nqX/k izksVhu dks dgrs gSa % 
 

38. Milk protein is called : 

(A) tsu   (A) Zein 

(B) dsjkfVu  (B)  Keratin  

(C) XyksC;wfyu  (C)  Globulin  

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above  

39. okVj ijh{k.k lEcfU/kr gS % 
 

39. Water test is related to : 

(A) nw/k ls  (A) Milk 

(B) ?kh ls  (B)  Ghee 

(C) v.Ms ls  (C)  Egg 

(D) pht ¼iuhj½ ls  (D)  Cheese 
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41. ckx jksi.k dh mPp l?ku fof/k gS % 
 

41. High density planting method of orchard 

is : 

(A) oxkZdkj i)fr  (A) Square system 

(B) f=dks.k i)fr  (B)  Triangle system 

(C) vk;rkdkj i)fr  (C)  Rectangular system 

(D) ‚kV~dks.k i)fr  (D)  Hexagonal system 

42. vkyw dk okuLifrd uke gS % 
 

42. Botanical name of potato is : 

(A) lksysue esyksaftuk   (A) Solanum melongena 

(B) lksysue V~;wcjksle  (B)  Solanum tuberosum 

(C) ykbdksijlhdksu ,Ldwys.Ve  (C)  Lycopersicon esculentum 

(D) dSfIlde ,ue   (D)  Capsicum annuum 

43. VekVj ds yky jax dk dkj.k gS % 
 

43. Red color of tomato is due to : 

(A) ykbdksihu  (A) Lycopene 

(B) ,UFkkslkbfuu  (B)  Anthocyanin 

(C) dSjksVhu  (C)  Carotene 

(D) tsUFkksfQy  (D)  Xanthophyll 

44. ^dqQjh ckn’kkg* ,d fdLe gS % 
 

44. ‘Kufri Badshah’ is a variety of : 

(A) VekVj dh  (A) Tomato  

(B) fepZ dh  (B)  Chilli 

(C) vkyw dh  (C)  Potato  

(D) cSaxu dh  (D)  Brinjal  
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45. ,dchti=h Qy gS % 
 

45. Monocot fruit is : 

(A) vke  (A) Mango  

(B) dsyk  (B)  Banana 

(C) iihrk  (C)  Papaya 

(D) ve:n  (D)  Guava 

46. xktj dk [kkus okyk Hkkx gS % 
 

46. Edible part of carrot is : 

(A) ruk  (A) Stem  

(B) iq‛i  (B)  Flower 

(C) tM+  (C)  Root 

(D) mi;qZDr lHkh  (D)  All of the above  

47. DykbesfDVªd Qy gS % 
 

47. Climacteric fruit is : 

(A) vke  (A) Mango  

(B) vaxwj  (B)  Grape 

(C) tkequ  (C)  Jamun 

(D) yhph  (D)  Litchi 

48. vke dk O;kolkf;d izlkj.k gksrk gS % 
 

48. Mango is commercially propagated  

by : 

(A) cht ls  (A) Seed 

(B) ldj ls  (B)  Sucker 

(C) Vh&cfMax ls  (C)  T-budding  

(D) ohfu;j xzkÇ¶Vx ls  (D)  Veneer grafting  
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49. fuEufyf[kr esa ls cfMax dh dkSu&lh ,d fof/k 

ugha gS \ 

 
49. Which of the following is not a method of 

budding ? 

(A) Vh&cfMax  (A)  T-budding  

(B) fjax cfMax  (B)  Ring budding  

(C) iSp cfMax  (C)  Patch budding  

(D) ,;j ys;fjax  (D)  Air layering  

50. ^gkWVhZdYpj* ‘kCn dh mRifŸk gqbZ gS % 
 

50. The term ‘horticulture’ is derived from : 

(A) xzhd ls  (A) Greek  

(B) ySfVu ls  (B)  Latin  

(C) Ýsap ls  (C)  French 

(D) vaxzsth ls  (D)  English 

51. fVDdk jksx lEcfU/kr gS % 
 

51. Tikka disease is related to : 

(A) ew¡xQyh ls  (A) Groundnut  

(B) xUuk ls  (B)  Sugarcane 

(C) eDdk ls  (C)  Maize 

(D) /kku ls  (D)  Rice 
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52. Hkkjrh; ikni jksx foKku ds tud gSa % 
 

52. Father of Indian Plant Pathology is : 

(A) Vh- ts- cfjy  (A) T. J. Burril  

(B) bZ- ts- cVyj  (B)  E. J. Butler 

(C) MCY;w- ,e- es;j  (C)  W. M. Mayer 

(D) jkWcVZ dksp  (D)  Robert Koch 

53. vkbfj’k QSekbu ¼vdky½ fdl o‛kZ ntZ fd;k 

x;k \ 

 
53. Which year was Irish Famine reported ? 

(A) 1879 esa  (A) 1879 

(B)  1845 esa  (B)  1845 

(C)  1960 esa  (C)  1960 

(D)  1843 esa  (D)  1843 

54. caxky QSekbu ¼vdky½ ntZ fd;k x;k Fkk % 
 

54. Bengal Famine was reported in : 

(A) 1945  (A) 1945 

(B)  1943  (B)  1943 

(C)  1878  (C)  1878 

(D)  1879  (D)  1879 



 

Ag–1010 ( 18 )  Set-C 

55. /kku eas czkmu yhQ LikV jksx dk dkj.k gS % 
 

55. Brown leaf spot of rice is caused by : 

(A) fo‛kk.kq  (A) Virus  

(B) thok.kq  (B)  Bacteria  

(C) dod  (C)  Fungus 

(D) ‘kSoky  (D)  Algae 

56. /kku ds [kSjk jksx dk dkj.k gS % 
 

56. Rice Khaira disease is due to : 

(A) dod  (A) Fungi 

(B) thok.kq  (B)  Bacteria  

(C) ftad dh vf/kdrk   (C)  Zinc excessiveness 

(D) ftad dh deh  (D)  Zinc deficiency  

57. ywt LeV jksx gS % 
 

57. Loose smut disease is : 

(A) cká e`nk tfur jksx  (A) Externally soil borne  

(B) vkUrfjd ènk tfur jksx  (B)  Internally soil borne  

(C) cká cht tfur jksx  (C)  Externally seed borne 

(D) vkUrfjd cht tfur jksx  (D)  Internally seed borne  

58. bysDVªkWu ekbØksLdksi dh [kkst fdlus dh Fkh \ 
 

58. Who discovered Electron Microscope ? 

(A) V~oVZ  (A) Twort  

(B) yqbZ ik’pj  (B)  Louis Pasteur 

(C) uky o jLdk   (C)  Knoll and Ruska  

(D) mi;qZDr esa ls dksbZ ugha    (D)  None of the above  
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59. jksx QSykus okyk dkjd gS % 
 

59. Disease causing agent is : 

(A) iSFkkstu ¼jksxtud½  (A) Pathogen  

(B) okrkoj.k   (B)  Environment 

(C) jksx  (C)  Disease  

(D) mi;qZDr esa ls dksbZ ugha    (D)  None of the above  

60. ikS/ks dh vlkekU; fLFkfr dgykrh gS % 
 

60. Abnormal condition of plant is called : 

(A) jksxtud  (A) Pathogen  

(B) jksx  (B)  Disease 

(C) okrkoj.k   (C)  Environment  

(D) mi;qZDr lHkh  (D)  All of the above  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 


	AG-1010-Cover-Set-C.pdf (p.1-3)

